


Which graph is linear?
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Number of Extra Cost ($)

Toppings
0 12.00
1 12.75
2 13.50
3 14.25
4 15.00
5 15.75

a)  What patterns do you notice in
the table above?

b)  Graph the following relation.



a) Number of Extra

Toppings
+1 C v
+1 C :
+1 ( 2
+1 C )
+1 C 5

TGRSy [y 2 Conslan amen

Therefore, this is a linear function !!

Cost ($)

12.00
12.75
13.50
14.25
15.00
15.75

) +0.75
) +0.75
) +0.75

) +0.75
) +0.75
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Cost of a Pizza
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Cost of a Pizza
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Distance (km) Cost ($)

0 60
+100 +20
100 80
+100 +20
200 100
+100 +
300 120 20
+100 400 140 +20

A constant change in the independent results
in a constant change in the dependent



Set of Ordered Pairs:

{(0, 60), (100, 80), (200, 100), (300, 120), (400, 140)}




Change in Independent

+100 +100 +100 +100
SN N T N

{(0,60), (100, 80), (200, 100), (300, 120), (400, 140)}
DA A A

+20 +20 +20 +20

Change in Dependent

10



a graph:

420 Change in y

160

120
@ /1110,. = .
- /x/* —Change in X
o 80 /x/>=
o
o 10
ko

0 100 | 200 300 | 400 | 500
A

N Independent variable
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a) The relation between
temperature in degrees
Celsius, C, and temperature
in degrees Fahrenheit, F

C
0
5

10

15

20

F
32
41
50
59
68

I
0
5

10

15

20

b) The relation between
the current, [ amps, and
power, P watts, in an
electrical circuit

P
0
75
300
675
1200
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The relation between the
number of bacteria in a
culture, n, and time,

t minutes.

20
40
60
80
100

16
32

d)

The relation between the

amount of goods and

services tax charged,
T dollars, and the amount of
the purchase, A dollars

A

60
120
180
240
300

T

12
15
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Rate of Change

Change in Y

Rate of Change = —
Change in X

Y2- VY1

Slope "m" -
X2 - X1

14



i
1o r‘\ZOku ange in y
@ ~4100., ) .
-lg' 0 \ ‘;\ r— qange In
L >
P g
I (9&0 00, 6
0 1100200 300/ 400 500 | <
istance (km
i
N
Change in y
Rate of Change =

Change in x

- 2
(00

= 0'0 /km

15



160
o }__‘\20‘*\-1 ange iny
a7 ~A100. N .
..g. a0 \ X —[Change in
2. >
40
0/ 1100|200 300 400 500
istance (km
Change iny
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Writing an Equation
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a)

baleuiats Toe bae of Change

Graph A Graph B
FiIIin%a Water Tank b) Emptying a Water Tank
50001 ;eee{/
o 4000 3 4000 \
£ £
5 DOVND = NONN \
:, LUUyU = —AVALAS
t \ t
0] 4040 FSO 120 0" | 40 [80 120
Time (min) Tmfrn )
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c)

Graph A
Filling a Hot Tub
1600 v
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— L v
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d)

Graph B
Emptying a Hot Tub
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